ENGLISH WORKSHEET

IFOMNE SENTEMCE HAS & MISTAKE. CHODOSE THE COARECT SENTEMCE.
PLUIT « AND X.

1. A-He's an engineer.
B-He's & engineer.
2. A~ 'm a hairdresser,
B=- I'm hairdresser,
3. A- I have teventy-one years ald.
B- | am twenty-one years obdl.
A, A~ Wy SESEr S narme i CArmen.
B- My sisters marmee ks Carmen.
5. A~ She st married.
B- She no marked.
B, A ave et Brothers,
B- | have twao brother.
¥. A Where's Wolfgang from 7
B- Where ‘Waollgang from#
B. A- That's Peter’'s book.
B- That s the book of Peter.

li- USE YOUR DICTHOMARY AND FILL IN THE GAPS.
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